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B.Com (PART IIl) EXAMINATION, 2019
GROUP C : APPLIED BUSINESS ECONOMICS GROUP

Paper VI (i) : Management Accounting M. M. : 100

o Tug—' 3’ 20x 3 =00

L. Y& H@i 1wl T qen T6% Seva T S e e &
iir-ﬂ & fI0 TF sTavrd IuH F@ F® 9@ 22 Define Management
ccounting and discuss its objectives. Why is management accounting
called an essential tool for management? )

2. (a) 3fX =] Hqwm 2 aar wrdvier ot ¥2,00,000 & @ e w=af aur
g *Y afr 3 FIQ) Calculate current assets and cu:cﬂm liabilitic?li?
current ratio = 2 and working capital = ¥2,00,000.

(b) I HqE@ 2-7 : 1, W& AR 1-8 : 1, = T T7,00,000, Tefiray
arad 4 T 8, o fad W W AT (HEEE /@ AT B AP I BN Current
Ratio is 2-7 : 1, Quick Ratio is 1-8 : 1, Current Liabilities is 7,00,000, stock
turnover is 4 times. Calculate cost of revenue from operations (Cost of
Goods sold). '

(c) @Y Had STaE 6 T, e e frt W 20% ¥, famt ¥3,60,000,
st @y, TRitvs = q 30,000 afus €1 wrfve 1 sifaq @y &t o
Fife1 Stock Turnover Ratio 6 Times, Gross Profit Ratio 20% on sales,
Sales ¥3,60,000, closing stock is ¥30,000 in excess of opening stock.

~ Calculate opening and closing stock.

(d) Tl fA. G | 3wt @ (fad 7 A are) W 25% T Al

ﬁ?ﬂ%lﬁ%ﬁﬂlﬁa@mm(wﬁaﬁ),mﬁmm(mﬁﬁ)

F Q@ R 13k FEeE QA MUR A (IuR ) 2,00,000 ¥, @ wt &
[EHS TV I HY MO FHIC ! Sakshi Ltd. earns a gross. profit of 25% on
cost of revenue from operations (Cost of goods sold). Its credit revenue from
operations (Credit sales) are twice of its cash revenue from operations (Cash
Sales). If Credit revenue from operations (Credit sales) are 32,00,000,
calculate the Gross profit Ratio of the company. '
3. %o g9t F 1-4-17 9w 31-3-18 F fags freraq @—Balance sheet of
M/s Sajal on 1-4-17 and 31-3-18 were as follows :

Liabilities 1/4/17 | 31/3/18 | * Assets 1/4/17 | 31/3/18
@eR Creditors | 40,000| 44,000 [{%g Cash 10,000] 7,000
A i T FH 27e Debtors 30,000| 50,000
Mrs. A’s Loan 25,000 - ' .

d% 9 H=9 Tefaan Stock 35,000 25,000
Loan from Bank | 40,000] 50,000 -
Ysft Capital 1,25,000| 1,53,000 %<3 (&)
: Machinery (Net) | 80,000{ 55,000
9y Land 40,000 50,000
Y99 Building 35,000{ 60,000
2,30,000| 2,47,000 2,30,0001 2,47,000
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T8 ¥ 2hem £10,000 1 9T W W& 94 (Fa ufafad g@ 33,000) 5,000
§ 49 fegr1 999 @R W g9 & foe wayuA 1-4-2017 =1 325,000 war 31-3-2018
T 740,000 =11 a¥ 2018 % fow y1& @y T45,000 o1t U werd T TRy
During the year a machine costing ¥10,000 (Accumulated depreciation
Z3.000) was sold for T5,000. The provision for Depreciation against
machinery as on 1st April, 2017 and 31st March, 2018 were of ¥25,000 and
£40,000 respectively. Net profit for the year 2018 amounted to T45,000.
Prepare Cash Flow Statement.

4. B IR 1w ey aner v A Fag, Fava, e 2018 &

fae Wl f8. 1 4% Iwg e R FRC—Prepare a cash budget of SAKSHI
!,td. for Oct., Nov., Dec. 2018 in the columnar form using the following
informations :
W¥ Month faeRu Sales| %4 Purchase | wargft Wages | 273 Exp.

July (Actual) 40,000 20,000 10,000 | 2,000
August (Actual) 40,000 20,000 9,000 | 3,000
September (Actual) | 35,000 21,000 11,000 | 3,000
October (Budgeted) | 45,000 25,000 12,000 | 4,000
November (Budgeted)| 42,000 22,000 10,000 | 3,000
December (Budgeted) | 40,000 118,000 9,000 | 4,000

. SRS Y § ™ €—You are given further informations

(1) 53 =1 10% 9 fasa 1 20% %< &1 10% of Purchase and 20% of
sales are for cash. -

(ii)é?wﬁaﬂww@ﬁmaﬁx%m%ammmm W T T AE

that

' A 69 S | The average.collection period of company is 1 month and

: 2
the credit purchase are paid off regularly after one month.

1
(i) 7ol > W A= AR 7w & e 21,000 @ § Wb €

. S ) o e 1 Wages are paid half monthly and the rent of 1,000
included in expenses is paid monthly. '

(i) T T e aw YT RE W €1 Expenses are paid after one month.

o & oy ot X7.000) & 3 ) T et 1 i S 71,000 %
8,000 and m:? @l 1 Cash and Bz'mk Balance as on 1 October was
, Ompany wants to keep it at the end of each month below

8,000 (But not less ¥7 000) the excess cash bei s e
_ . ¢
Multiples of Z1,000. cash being put in Fixed Deposit in
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5. Troafafed faao @ sw faeeoll %t 1orn S4RT—From the following

particulars calculate labour variances :

W99 59 W6 Standard Labour Force

T8 (Male) 8000 hours @ ¥0-50 per hour 4,000

Hfgen (Female) - 8000 hours @ ¥0-40 per hour 33,200
16000 hours 7,200

qieafa® 9m Wie Actual Labour Force |

%Y (Male) 9300 hours @ T0-60 per hour 35,580

Hiten (Female) | 7000 hours @ ¥0-35 per hour !’2:450
16300 hours 38,030

e o @O % Hror S0 Wl oF A ARTE (FF0 3 wfkwn) AR @1 Dy,
to machine breakdown both the laboures (male and female) were idle for 5q
Hours. | '

wus—'u’ _ 8xS5=4g

1. YOI SaiF ¥ g daiet ¥ F KA Distinguish betweey,
Management Accounting and Financial Accounting. ,

2. ey faita fararoll w9t fafi=r fadrwarstl %1 701 FIFAT1 Discuss varioyg
characteristics of an Ideal Financial Statement. http://www.dbrauonline.com

3, Iy ware fyaror aer wy-gif fyaor 3 SR 9aQ | Distinguish between,
Fund Flow Statement and Profit and Loss Statement.

4. a3t 71 w0 frota ¥ W ara # fir TEEET L Explain the role
of marginal costing in the decision of make or buy.

5. o= w0 F fag ¥ 42 W@ $Q T e s €2 What is shut down,
point? How is it find out? : S

6. YA ARG wered F41 2 What is zero base budgeting?
7. urpit faw §F fafir= WK @Rl State different types of materia)
variances. ~-

8. wiadelier wrm #1 foml @ a1que 60% ¥ 1-um-fa=dg fag fasnt & 809,

W 3ren ¥ 1 feeR} R 1 wfaer 1@ SIS The Ratio of variable cost to saleg

is 60%. The break-even point occurs at 80% of sales. Calculate % of profit
on sales.
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